D1viSION WITH A REMAINDER II (H - SET 4)

DIVISION WITH 1 TO 10 Hame
Time: Score: y—
9) 38053 = & = 106) 68619 +~ 8 =
2 5418 = 1 = 07 3256+ 2 =
93) 54606 =— 6 = 8) 43397 = 10 =
91) 43587 = 7 = 109) 79310 =9 =
) 12246 =2 = 10 4520 + 7 =
96) 38706 = 4 = 1y 4319 =10 =
o 90764 + 10 = 12) 81115 +9 =
9% 60734 + 8 = 13 8697 + 2 =
99) 14262 = 6 = 14 33235 + 10 =
100 881+ 1= 115 10741 =4 =
1) 8871 =10 = 116) 35453 +4 =
102) 5387 =+ 3 = un 370 -8 =
103) 17203 + 2 = 1) 1794 =2 =
104) 42787 = 7 = 1) 17139 + 2 =
105 17247 — 9 = 1200 37924 =5 =
Mathematics: Division - Level § - Horizontal - Set, 4 5 cul
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